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HFIAE X plin 4 4 4 4 0 0 2 1 0 0 4 4
HI35AE X HX 1 1 0 0 1 1 0 0 0 0 1 1
A /NS X HX 3 3 3 3 0 0 0 1 0 0 3 3
FRIRFEFTET AR X HX 2 2 1 1 1 1 0 1 0 1 2 2
HIFIFONE EX HX 5 7 2 4 3 3 1 0 0 0 5 7
18114 R | goRt 18 18 17 17 1 1 0 0 0 0 18 18
Te)/INEET—T B fkith X Finikoei) 3 3 2 2 1 1 0 0 0 0 3 3
1B B RE | BEEt 2 2 2 2 0 0 0 0 0 0 2 2
JENIE=A=255x EX TR 4 4 2 2 2 2 0 0 0 0 4 4
BEAE X HX 2 2 1 1 1 1 0 0 0 0 2 2
AHANE X HX 4 4 3 3 1 1 0 2 0 1 4 4
A X Finikoe) 6 10 3 6 3 4 0 2 0 1 6 10
FERs IGNE X HX 2 2 1 1 1 1 0 0 0 0 2 2
—BRENE X HX 3 3 1 1 2 2 0 0 0 0 3 3
S1TERAE X HX 3 3 1 1 2 2 0 0 0 0 3 3
S 2TEAE X HX 3 3 3 3 0 0 1 1 0 0 3 3
S3TERE X HX 3 3 0 0 3 3 0 0 0 0 3 3
S5 TEAE X HX 2 2 1 1 1 1 0 1 0 0 2 2
SHEAE X HX 1 1 1 1 0 0 0 0 0 0 1 1
SHAE X HX 2 2 1 1 1 1 0 0 0 0 2 2
AR AE X HX 2 2 1 1 1 1 0 1 0 0 2 2
FHEAE X HX 5 5 2 2 3 3 0 0 0 0 5 5
JIEL/NINES] EX HX 1 1 1 1 0 0 0 0 0 0 1 1
BHAE (FEE) JEX Es 2 2 1 1 1 1 0 0 0 0 2 2
AEE 1NE X HX 3 3 2 2 1 1 0 0 0 0 3 3
BN X HX 2 2 2 2 0 0 1 1 0 0 2 2
THRE AR EX g 49 49 38 38 11 11 4 18 3 1 49 49
THERRIVEAE EX #HX 5 5 3 3 2 2 0 1 0 0 5 5
THRAETRE (A) EX B 34 34 34 34 0 0 0 2 0 0 34 34
THREETRNE (C) EX g 27 27 6 6 21 21 0 6 0 0 27 27
BFEAEDO X B 25 46 25 46 0 0 1 6 0 0 25 46
PRI A/NES| X HX 3 3 3 3 0 0 0 3 0 0 3 3
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P2 NES BX #HX 1 1 1 1 0 0 0 0 0 0 1 1
REEHMNE BHX #HX 1 1 1 1 0 0 0 0 0 0 1 1
REFEE 1 E X #HX 3 3 3 3 0 0 0 0 0 0 3 3
KREFESE 2 NE X HX 1 1 1 1 0 0 0 0 0 0 1 1
KERE EX HX 6 6 0 0 6 6 0 0 0 0 6 6
PAI/NE X HX 1 1 0 0 1 1 0 0 0 0 1 1
RITHRAE X plin’ 21 21 21 21 0 0 0 4 0 0 21 21
KITENE X #HX 2 2 0 0 2 2 0 0 0 0 2 2
ERANE X HX 2 2 1 1 1 1 0 0 0 0 2 2
2% RAE X #HX 2 2 2 2 0 0 0 1 0 0 2 2
BELTIOTH—T X X 2 2 2 2 0 0 0 2 0 0 2 2
Pliw/ &/NES| X X 13 13 13 13 0 0 3 1 0 0 13 13
HEENE X #HX 1 1 1 1 0 0 0 0 0 0 1 1
HEHHRE X #HX 1 1 1 1 0 0 0 0 0 0 1 1
TR AR L HX 1 1 1 1 0 0 0 0 0 0 1 1
EREAAE X HX 4 4 1 1 3 3 0 0 0 0 4 4
ERREEAR X HX 2 2 2 2 0 0 0 0 0 0 2 2
+thEBH1TEARE X HX 3 3 3 3 0 0 0 0 0 0 3 3
B2 TEAE X HX 2 2 2 2 0 0 0 0 0 0 2 2
+FHRBEAE X HX 2 2 2 2 0 0 0 0 0 0 2 2
JIBREXAE EX HX 1 1 1 1 0 0 0 0 0 0 1 1
pilrsel) BHX TR 33 35 32 34 1 1 0 0 0 0 33 35
i 1IN S| HX EH 13 14 12 13 1 1 0 0 0 0 13 14
HHETAE X HX 1 1 1 1 0 0 0 0 0 0 1 1
LA AR L HX 2 2 2 2 0 0 0 0 0 0 2 2
Bl# =% 1= NES| X HX 3 3 0 0 3 3 0 0 0 0 3 3
FHEEHL LAE X #HX 2 2 0 0 2 2 0 0 0 0 2 2
E=ZE 2 E X HX 2 2 2 2 0 0 0 0 0 0 2 2
EEEAR X #HX 2 2 2 2 0 0 0 0 0 0 2 2
NERNE BHX HX 1 1 1 1 0 0 0 0 0 0 1 1
ARERNE BX #HX 20 20 20 20 0 0 1 0 0 0 20 20
HAE BX HX 3 4 3 4 0 0 0 0 0 0 3 4
ZHANE X HX 3 3 3 3 0 0 0 1 0 0 3 3
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ZHNE X HX 5 5 5 5 0 0 1 1 0 0 5 5
pi: NS X HX 2 2 2 2 0 0 0 0 0 0 2 2
SAIARET N E BX #HX 2 2 2 2 0 0 1 0 0 0 2 2
PN X plin 11 11 10 10 1 1 0 0 0 0 11 11
ERBREFTSABEI L 0K X plin 11 11 11 11 0 0 1 4 0 0 11 11
AEENE X HX 2 2 2 2 0 0 0 2 0 0 2 2
BEEHARE EX X 1 1 1 1 0 0 0 0 0 0 1 1
HEFEHARE EX #HX 1 1 1 1 0 0 0 0 0 0 1 1
EHHEEEE BE | Hha 3 3 1 1 2 2 0 0 0 0 3 3
HEEAAE BHX HX 1 1 0 0 1 1 0 0 0 0 1 1
ARF—ZAE BHX X 1 1 1 1 0 0 0 0 0 0 1 1
PARFFHRAE BHX #HX 2 2 1 1 1 1 0 0 0 0 2 2
FARFIENE BHX #HX 1 1 1 1 0 0 0 0 0 0 1 1
PRFEAE BHX HX 3 3 3 3 0 0 0 0 0 0 3 3
I BEENE X #HX 2 2 0 0 2 2 0 0 0 0 2 2
el 1 = L HX 2 2 1 1 1 1 0 0 0 0 2 2
el 2 20 L HX 1 1 1 1 0 0 0 0 0 0 1 1
el 3 2 L HX 2 2 2 2 0 0 1 0 0 0 2 2
SHENE X HX 1 1 1 1 0 0 0 1 0 0 1 1
ESHENE X HX 2 2 1 1 1 1 0 0 0 1 2 2
TEHLE X HX 27 30 13 16 14 14 1 1 0 2 27 30
THEANE X HX 6 6 6 6 0 0 1 0 0 0 6 6
THBANILAE EX #HX 1 1 1 1 0 0 0 0 0 0 1 1
THEARNPRAE EX HX 3 3 3 3 0 0 0 0 0 0 3 3
THEEHAR X #HX 3 3 2 2 1 1 0 0 0 0 3 3
ThEBEFIBNE X #HX 1 1 0 0 1 1 0 0 0 0 1 1
kN NS X #HX 3 3 3 3 0 0 0 0 0 0 3 3
BEEEBIBAR BHX #HX 1 1 1 1 0 0 0 0 0 0 1 1
FEAE BEX Hb[X 7 7 7 7 0 0 2 0 0 0 7 7
BEAA—TBLE BX #HX 2 2 0 0 2 2 0 0 0 0 2 2
WEAA=TEBLE BX #HX 4 4 3 3 1 1 0 0 0 0 4 4
WEAR=TEF 2 E BX HX 3 3 3 3 0 0 0 0 0 0 3 3
BEAE—TBERE BX HX 3 3 3 3 0 0 0 0 0 0 3 3
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BEAE_TEE1ILE BX HX 1 1 1 1 0 0 1 0 0 0 1 1
BWEAE_TEE2LE BX HX 3 3 0 0 3 3 0 0 0 0 3 3
EEALAE BHX HX 2 2 2 2 0 0 0 0 0 0 2 2
BREIHITAE X HX 2 2 2 2 0 0 0 0 0 0 2 2
BRANE X HX 1 1 1 1 0 0 0 0 0 0 1 1
FREB=TBAE X HX 1 1 0 0 1 1 0 0 0 1 1 1
R=ZANE EX HX 1 1 0 0 1 1 0 0 0 0 1 1
iR 4 5AE EX #HX 1 1 1 1 0 0 0 1 0 0 1 1
FRBFTENE EX HX 3 3 3 3 0 0 0 0 0 0 3 3
SR A E X #X 5 5 3 3 2 2 0 0 0 0 5 5
FRRBAE EX X 4 5 3 3 1 2 0 1 0 0 4 5
FRENE EX HX 2 2 0 0 2 2 0 0 0 0 2 2
FRENE EX HX 3 3 0 0 3 3 0 0 0 0 3 3
FEHLE X HX 2 2 2 2 0 0 0 0 0 0 2 2
B LR BX | SRk 2 2 2 2 0 0 0 0 0 0 2 2
FENE X HX 3 3 3 3 0 0 0 1 0 0 3 3
BENE X HX 3 3 3 3 0 0 1 0 0 0 3 3
E3fNES| X HX 3 3 3 3 0 0 0 0 0 0 3 3
BRAE BHX HX 3 4 3 4 0 0 0 0 0 0 3 4
BRB s ERRAE BX HX 2 2 2 2 0 0 1 0 0 0 2 2
BREB s EFAE BX HX 2 2 1 1 1 1 0 0 0 0 2 2
BRTLE BX HX 3 3 0 0 3 3 0 0 0 0 3 3
SRR 15 HX | #Het 1 1 1 1 0 0 0 0 0 0 1 1
REFEAE X g 14 20 10 16 4 4 0 1 0 0 14 20
hE LFAE EX HX 2 2 1 1 1 1 0 0 0 0 2 2
REMHAR EX HX 2 2 0 0 2 2 0 0 0 0 2 2
FETAINAE BHX #HX 3 3 3 3 0 0 0 0 0 0 3 3
BIRAE EX HX 1 1 0 0 1 1 0 0 0 0 1 1
HRENE EX HX 3 3 3 3 0 0 0 0 0 0 3 3
1k 2 BRAT R EX TR 14 16 14 16 0 0 0 2 0 0 14 16
KEFRNE X #HX 2 2 1 1 1 1 0 0 0 0 2 2
KERFEITAE X #HX 2 2 2 2 0 0 0 1 0 0 2 2
KRFE 1A E X HX 6 8 5 6 1 2 0 2 0 0 6 8
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R 2 NE It HX 1 1 0 0 1 1 0 0 0 0 1 1
At 3N E It HX 1 1 0 0 1 1 0 0 0 0 1 1
PN E[drs #HX 3 3 0 0 3 3 0 0 0 1 3 3
=y 7N HX HX 1 1 1 1 0 0 0 0 0 0 1 1
BENE FX R 7 7 5 5 2 1 0 0 12

= Sk X A 21 3 3 0 1 0 0 24

BEHEAE HX #HX 2 0 0 0 0 0 0 2

®EEAE HX #HX 1 0 0 0 0 0 0 1

VNS N X s 13 12 1 1 2 4 0 0 13

[ERVN5 7 ok N X s 2 2 2 2 0 0 0 0 0 0 2 2
BENE HX HX 3 4 3 4 0 0 0 1 0 0 3 4
B 1 SANE It HX 1 1 1 1 0 0 0 0 0 0 1 1
B2 SN E[drs HX 1 1 0 0 1 1 0 0 0 0 1 1
ZHEREAE HX #HX 3 3 0 0 3 3 0 0 0 0 3 3
REAER X HX 2 2 0 0 2 2 0 0 0 0 2 2
REBELE X #HX 3 3 0 0 3 3 0 0 0 0 3 3
REELE X #HX 2 2 1 1 1 1 0 0 0 0 2 2
2o p AN [ #HX 2 2 2 2 0 0 0 0 0 0 2 2
HAEAE [ #HX 6 7 4 5 2 2 0 0 0 0 6 7
HhZE 1 S2E [ #HX 2 2 1 1 1 1 0 0 1 0 2 2
HhZHE2 SAE X #HX 2 2 1 1 1 1 0 0 1 0 2 2
HhE 3 SAE X #HX 1 1 1 1 0 0 0 0 0 0 1 1
HhEaE X #HX 2 2 1 1 1 1 0 0 0 0 2 2
5f: S N X HX 1 1 1 1 0 0 0 0 0 0 1 1
FHAR X HX 2 2 2 2 0 0 1 1 0 0 2 2
FERETNE Bx #HX 5 5 5 5 0 0 0 0 0 0 5 5
LEHEHETHR 2 SAE []5S HX 1 1 1 1 0 0 0 0 0 0 1 1
FEHETHR 3 S AR 158 HX 2 2 1 1 1 1 0 1 0 1 2 2
FEHITREANE Bx #X 1 1 1 1 0 0 0 0 0 0 1 1
SO Y IS 1A 158 HX 2 2 2 2 0 0 0 0 0 0 2 2
EHOHN Y ETE 2 NE []5S HX 2 2 0 0 2 2 0 0 1 0 2 2
FERET 1 S0 []5S #HX 2 2 0 0 2 2 0 0 0 0 2 2
FERET 2 S0E []5S #HX 1 1 1 1 0 0 0 0 0 0 1 1
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HLRE X plin 16 24 0 0 16 24 0 0 0 1 16 24
EENE X HX 2 2 1 1 1 1 0 0 0 0 2 2
EERANE X HX 2 2 2 2 0 0 0 0 0 0 2 2
EESAE X HX 3 3 1 1 2 2 0 1 0 0 3 3
EEHEMANE X #HX 2 2 2 2 0 0 1 0 0 0 2 2
EERH AR X HX 2 2 1 1 1 1 0 0 0 0 2 2
P GINES] X HX 1 1 1 1 0 0 0 0 0 0 1 1
+HERE X HX 1 1 0 0 1 1 0 0 0 0 1 1
+HHRETAE X #HX 1 1 1 1 0 0 0 1 0 0 1 1
Epe et FNES| X X 16 16 0 0 16 16 0 0 0 0 16 16
LITHEPRE EX HX 2 2 0 0 2 2 0 0 0 0 2 2
LITHEANE EX HX 3 3 3 3 0 0 0 0 0 0 3 3
LIHEAESE 2 NE EX #HX 1 3 1 3 0 0 1 0 0 0 1 3
LITHEANE EX HX 3 3 1 1 2 2 1 0 0 0 3 3
LIHAF RNE EX HX 1 1 1 1 0 0 0 0 0 0 1 1
=EHNE X HX 1 1 1 1 0 0 0 1 0 0 1 1
ERAENE X HX 3 3 2 2 1 1 0 0 1 0 3 3
EEANE X HX 2 2 1 1 1 1 0 0 1 0 2 2
BRI AE X #X 3 3 2 2 1 1 0 2 0 1 3 3
ERENE EX HX 1 1 1 1 0 0 0 0 0 0 1 1
hENE BHX HX 3 5 2 4 1 1 0 0 0 0 3 5
hESE 1AE BHX #HX 1 1 1 1 0 0 0 0 0 0 1 1
hEBE 2 A E BHX HX 2 2 2 2 0 0 0 0 0 0 2 2
FAEAE X HX 6 6 5 5 1 1 0 1 0 0 6 6
FALEFANE X HX 3 3 3 3 0 0 0 0 0 0 3 3
FALETE N E X HX 1 1 1 1 0 0 0 0 0 0 1 1
PlEEANE X HX 5 5 0 0 5 5 0 0 0 0 5 5
I NE X plin 2 2 1 1 1 1 0 0 0 0 2 2
| AE N X Es 3 3 1 1 2 2 0 0 0 0 3 3
WARETNE EX HX 5 5 1 1 4 4 0 0 0 0 5 5
AR 2 SRR EX #HX 3 3 3 3 0 0 0 1 0 0 3 3
EBILAE X HX 3 3 0 0 3 3 0 0 0 0 3 3
A aE EX HX 1 1 0 0 1 1 0 0 0 0 1 1
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[ INE| X #HX 1 1 1 1 0 0 0 1 0 0 1 1
[NE| X #HX 1 1 1 1 0 0 0 1 0 0 1 1
[ ES N ENE X #HX 3 3 3 3 0 0 0 0 0 0 3 3
BIFERE (1) JEX & 4 4 4 4 0 0 0 0 0 0 4 4
BIFERE (2) JEX & 2 2 2 2 0 0 0 0 0 0 2 2
BIFERE (3) JEX & 2 2 2 2 0 0 0 0 0 0 2 2
IFEAE (4) It St 9 9 9 9 0 0 0 0 0 0 9 9
B)IFERE (5) JEX & 12 15 12 15 0 0 0 1 0 0 12 15
BIFERE (6) JEX & 15 21 15 21 0 0 0 0 0 0 15 21
PIFEAE (7) E[drs B 23 26 23 26 0 0 0 0 0 0 23 26
FIFEAE (8) E[drs B 16 16 16 16 0 0 0 0 0 0 16 16
BIFERE (9) JEX & 27 31 27 31 0 0 0 0 0 0 27 31
B IERE (10) JEX & 23 26 22 24 1 2 0 2 0 0 23 26
B IERE (11) JEX & 7 7 7 7 0 0 0 0 0 0 7 7
FIFEARE (12) It B 4 4 0 0 4 4 0 0 0 0 4 4
B IERNE (14) JEX & 12 19 3 9 9 10 0 2 0 0 12 19
FIFE AR (13) E[drs B 1 2 0 0 1 2 0 0 0 0 1 2
FIFE AR (15) E[drs St 6 13 6 13 0 0 0 2 0 0 6 13
FIFEAE (16) E[drs St 6 15 6 15 0 0 0 2 0 0 6 15
e E (17-18) E[drs B 4 11 4 11 0 0 0 1 0 0 4 11
FEIREAE (19-20) E[drs 5 SE] 4 11 4 11 0 0 0 0 0 0 4 11
RN A Plid /N =153 #HX 1 1 0 0 1 1 0 0 0 1 1 1
BHIIGEE 2 NE =153 #HX 1 1 0 0 1 1 0 0 0 0 1 1
iflowNE It #HX 1 1 1 1 0 0 1 0 0 0 1 1
AEHAR X #HX 5 5 5 5 0 0 0 0 0 0 5 5
[T NES| X #HX 2 2 2 2 0 0 0 0 0 0 2 2
R T AR E[drs #HX 3 3 3 3 0 0 0 0 0 0 3 3
ARELE X #X 1 1 0 0 1 1 0 0 0 0 1 1
FAREEAR E[drs #HX 1 1 0 0 1 1 0 0 0 0 1 1
B =y e PPN E[drs #HX 2 2 2 2 0 0 0 0 0 0 2 2
[ NN E[drs #HX 1 1 0 0 1 1 0 0 1 0 1 1
i NN E[drs #HX 3 3 0 0 3 3 0 0 0 1 3 3
NS E[drs #HX 2 2 1 1 1 1 0 0 0 0 2 2
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AEREAR JtX X 2 2 2 2 0 0 1 0 0 0 2 2
FHAR JtX HX 3 3 3 3 0 0 0 0 0 0 3 3
FH=TBLE JtX #HX 4 4 3 3 1 1 0 0 0 0 4 4
FHIOT BAE JtX HX 3 3 3 3 0 0 0 0 0 0 3 3
FHIANE JtX HX 1 1 1 1 0 0 0 0 0 0 1 1
FHENE JtX HX 3 4 3 4 0 0 0 1 0 0 3 4
L NS JtX X 1 1 1 1 0 0 0 0 0 0 1 1
NA Z A4 7 LIEAE X #HX 2 2 1 1 1 1 0 0 0 0 2 2
FE1S51NE X HX 1 1 1 1 0 0 0 0 0 0 1 1
FE251NE X HX 1 1 1 1 0 0 0 0 0 0 1 1
FE3ISNE X X 1 1 1 1 0 0 0 1 0 0 1 1
BB 4 5NE X HX 2 2 2 2 0 0 0 0 0 0 2 2
FELSAE X HX 2 2 2 2 0 0 0 0 0 0 2 2
FE 65N E X HX 3 3 3 3 0 0 0 0 0 0 3 3
ERELRE TE | shmEe 3 3 0 0 3 3 0 0 0 0 3 3
FEELRRAE JtX HX 8 8 7 7 1 1 0 0 0 0 8 8
HhRrE X #HX 1 1 1 1 0 0 0 0 0 0 1 1
- /N X HX 3 3 3 3 0 0 0 1 0 0 3 3
ENE X HX 5 7 5 7 0 0 1 1 0 0 5 7
EINRAE X HX 5 5 2 2 3 3 1 1 0 0 5 5
EEF iR X TR 3 3 0 0 3 3 0 0 0 1 3 3
EEFHRAE X HX 3 3 0 0 3 3 0 0 0 0 3 3
EHEAE X #HX 3 3 0 0 3 3 0 0 1 1 3 3
REESAE X HX 3 3 1 1 2 2 0 0 0 0 3 3
REBEE 2 NE X #HX 2 2 1 1 1 1 0 0 0 0 2 2
EHHNE JtX HX 3 3 3 3 0 0 0 1 0 0 3 3
EMETNE JtX #HX 2 2 2 2 0 0 0 1 0 0 2 2
FHAE X HX 3 3 3 3 0 0 0 0 0 0 3 3
FH=ZTELEA X #HX 3 3 2 2 1 1 0 0 0 0 3 3
FHOEOTBEAE X #HX 1 1 1 1 0 0 0 0 0 0 1 1
HE1SNE X HX 2 2 0 0 2 2 0 0 0 0 2 2
B2 SR X HX 2 2 0 0 2 2 0 0 0 1 2 2
HHETAR JtX #HX 3 3 2 2 1 1 0 0 0 0 3 3
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BHRILTAE X X 7 9 1 3 6 6 0 2 0 1 7 9
Ry NE NS X HX 2 2 2 2 0 0 0 0 0 0 2 2
HEHWNFEAESE 2 NE X #HX 1 1 1 1 0 0 1 0 0 0 1 1
BHILAE X X 11 13 8 8 3 5 0 1 0 0 11 13
EBREFEENE X g 14 21 8 9 6 12 0 0 0 3 14 21
[NFUENE] EX HX 3 3 3 3 0 0 0 0 0 0 3 3
FHAR X HX 3 3 3 3 0 0 0 0 0 0 3 3
FHEAE X #HX 4 4 2 2 2 2 0 0 0 0 4 4
FH15/E X HX 2 2 2 2 0 0 0 0 0 0 2 2
T2 SAE s #x 1 1 1 1 0 0 0 1 0 0 1 1
BENE EX HX 1 1 0 0 1 1 0 0 0 0 1 1
wBENT BRE EX HX 1 1 1 1 0 0 0 0 0 0 1 1
BETHAE EX HX 2 2 2 2 0 0 1 0 0 0 2 2
wmEBAE EX #HX 4 4 2 2 2 2 0 0 0 1 4 4
RHE X g 22 22 0 0 22 22 0 0 0 0 22 22
wANE X HX 3 3 3 3 0 0 0 0 0 0 3 3
BEREMARANE EX #HX 2 2 1 1 1 1 0 0 0 0 2 2
wrEBEAE EX HX 3 4 3 4 0 0 0 1 0 0 3 4
wE—TBRE EX HX 6 6 6 6 0 0 0 1 0 0 6 6
[i=pS| /N EX plin 9 9 7 7 2 2 0 0 0 0 9 9
fisp- /NS EX HX 2 2 1 1 1 1 0 0 0 0 2 2
fisp=NES| EX HX 3 3 3 3 0 0 0 0 0 0 3 3
BHBILAE EX HX 1 2 1 2 0 0 0 0 0 0 1 2
BmEEAR X #x 2 2 0 0 2 2 0 0 0 1 2 2
PR EX TR 1 1 1 1 0 0 0 0 0 0 1 1
ZHERE X plin 6 6 6 6 0 0 0 3 0 0 6 6
[ VATIE/NES) X JELER 11 11 6 6 5 5 0 1 0 0 11 11
[/NE/NES) EX HX 1 1 1 1 0 0 0 0 0 0 1 1
BErE BHX HX 4 5 2 2 2 3 0 0 0 0 4 5
Valp:LugNEs| X HX 2 2 2 2 0 0 0 0 0 0 2 2
=MrE X HX 4 4 3 3 1 1 2 1 0 0 4 4
HENE EX HX 1 1 0 0 1 1 0 0 0 0 1 1
KZFNE X HX 3 3 2 2 1 1 0 0 0 0 3 3
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HE Y BTAE It HX 1 1 1 1 0 0 0 1 0 0 1 1
HEY ETRRAE It #HX 1 1 1 1 0 0 0 0 0 0 1 1
EREANE FX HX 2 2 2 2 0 0 1 1 0 0 2 2
EANE It HX 7 12 6 11 1 1 0 0 0 0 7 12
[EZRAEINE| E[drs #HX 3 3 3 3 0 0 1 0 0 0 3 3
[ N HX #HX 3 3 1 1 2 2 0 0 0 0 3 3
[N It R 11 11 11 11 0 0 0 0 0 0 11 11
=BNE It R 7 7 1 1 6 6 0 0 2 0 7 7
EENE E[drs HX 1 1 1 1 0 0 1 0 0 0 1 1
AN E =X H[X 19 25 16 22 3 3 4 2 0 0 19 25
R /NES| It HX 1 1 0 0 1 1 0 0 1 0 1 1
EEE: NE| HX #HX 2 2 2 2 0 0 0 2 0 0 2 2
BEEE 2 AE HX HX 1 1 1 1 0 0 0 0 0 0 1 1
NIEAE FX HX 1 1 0 0 1 1 0 0 0 0 1 1
AR HX HX 1 1 0 0 1 1 0 0 0 0 1 1
P AN E[drs #HX 2 2 1 1 1 1 0 0 0 0 2 2
BEHAE E[drs #HX 3 3 3 3 0 0 0 0 0 0 3 3
TEFFE 1 E[drs AR 4 4 0 0 4 4 0 0 0 0 4 4
BH Ay FRE E[drs #HX 1 1 0 0 1 1 0 0 0 0 1 1
BB ) —> 7 RZa— (dh) mX g 41 45 0 0 41 45 0 0 0 0 41 45
s —> 7 ~RZa— (B) X ol 117 124 12 14 105 110 0 2 0 9 117 124
Ly o2y EAR =153 #HX 2 2 1 1 1 1 1 0 1 0 2 2
PN EN N X #X 2 2 0 0 2 2 0 0 0 0 2 2
BT OERE HX #HX 2 2 2 2 0 0 0 0 0 0 2 2
FH=ZTHINS VAR HX #HX 3 3 3 3 0 0 0 0 0 0 3 3
AR SNES| X HX 1 1 0 0 1 1 0 0 0 0 1 1
EELNS VAR =153 #HX 3 3 0 0 3 3 0 0 0 0 3 3
BEAANE X #HX 3 3 0 0 3 3 0 0 0 0 3 3
BEADO21NE E[drs #BETHL 5 5 0 0 5 5 0 0 0 0 5 5

A  F 307 1,507 1,663 981 1,105 526 558 49 128 14 32 1,507 1,663
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IR R ETIE E i HX Pigb 1 1 1 1 0 0 1 1
8 S B 3 HX bigb 6 6 4 4 2 2 6 6
B 2 E FX B B 1 1 1 1 0 0 1 1
R 7 — LB E HX 3B B 1 1 1 1 0 0 1 1
B TT BT E FX bigb 1 1 1 1 0 0 1 1
B F i E It B B 2 2 0 0 2 2 2 2
EFLT BREEM E[drs 305 B3t 1 1 1 1 0 0 1 1
EHEEEE E[drs 305 3 1 1 1 1 0 0 1 1
)=ipd b X bigb 1 1 1 1 0 0 1 1
STRR S8 10EE iy =X bigab 1 1 1 1 0 0 1 1
AAEN A2 E 158 305 3 1 1 0 0 1 1 1 1
RIEN N 330 B b X B B 1 1 1 1 0 0 1 1
B3 3 3 It B B 2 2 1 1 1 1 2 2
2% B2 EM FX W B 2 2 1 1 1 1 2 2
BB R THEEM (215 30 B 1 1 1 1 0 0 1 1
AIFNI3T BaEEH BX TR 1 1 1 1 0 0| MHLAEOLBIAREALL 3208 (KEH1ALR 1 1
A5 T B R =X 305 3 2 2 0 0 2 2 <o) DEH - FEOUETEHRY L, 2 2
SMAEE=T BEE =X 305 3 2 2 1 1 1 1 2 2
b Ea i B 3 X 30 B 1 1 1 1 0 0 1 1
b7 e L 3 X B B 1 1 1 1 0 0 1 1
b 75 A ET30E ) it E[drs 3B B 1 1 1 1 0 0 1 1
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